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86. What is the clip word of ‘Brother®?

(A) Broth (B) Bro (C) Br (D) Bob
87. Fill in the blank : Gandhiji fought British.

(A) under the (B) with the (C) against the (D) in front of the
88. Identify the Common Noun.

(A) Boy (B) Rahul (C) Neha (D) Army
89. Select the predicate from the given sentence : *‘Nature is the best physician.’

(A) Nature (B) Nature is (C) Nature is the (D) is the best phySigian
90. Select the nearest meaning of ‘factual’.

(A) total AB) truthful (C) story (D) rumour |
91. Fill in the blank with appropriate form of the world given in the bracket :

Madhav said, “Sejal Bharatnatyam now.” (learn) |

(A) has learnt (B) is learns KC) is learning (D) will learn
92. Change the voice : ‘Letters are brought by postman.’

(A) Postman is bringing the letters.
_AB) Postman brings the letters.
(C) Letters are brought.

(D) Postman bringing letters.

93. Identify the type of adverb used.in the #emencc : “He often come to my house.”
(A) Adverb of Place (B) Adverb of Frequency
(C) Adverb of Manner | AD) Adverb of Time

9. Fill in the blank with suitable verb form from the options :

My brother yollyball but he doesn’t like basketball.

(A) like . (B) liked (C) is liking (D) likes
9S. Select Synonym®f the word Prohibit. |
.‘[A) Ban (B) Authorise (C) Diminish (D) Abridge
96. Eill inthe blank with appropriate option : ‘No one can touch you _Tam alive.’
(A) untill (B)if g;‘) till (D) unless
97. Read the sentence and \dentify the part in which there is grammatical error :

He was with me (1) / until now, (2) / so don’t (3) / punish him for the delay. (4)

(A) (4) (B) (3) (C)(2) (D) (1)
98. Use appropriate conjunction to fill up the gap : ‘I'lost my job I was often late.’
(A) as (B) as if {C) because (D) though
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99.

100.

Fill in the blank with appropriate article :

“There is nothing like staying at home for relaxation.’
(A) No article required (B) the
(C) an (D) a

Read the given sentences and choose the most logical order to constructa meaningfulpa ragraphs

(1) One day he found a box in his net.
(2) He was very poor.

(3) Once there was a fisher man.

(4) The box was filled with jewellery.
(A) 31 41 112 msi 21 114 (c) l1 21 413 ([’)3,11, 2‘4



